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gvy gfasr wEiE (10 B ) Question Booklet Serial No.

(10 Digits) in the OMR Answer
Sheet.

Hayq ferd i

- Candidates are required to gwe the:r

swers in their own words as far

3.
4 0 ” 5‘7'? Lof extra tume have boenl
2,’27} 3;?15 ::'lhd C(la‘llfitfdfc'.ﬁ [o "t'xlu:
fecar T e the questions.carefully.
S qe W3 Elaiaﬂ 5"7 @Uﬁ IJ' 3 — 5. This question booklet s divided mnto
GUg-H Q‘? GqUs-d/ two sections — Section-A and
Section-B.
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6.

qus-o 7 70 aqyfe wv & [ 6.

q fa=t 35 wyt @ gav
Afard &1 35 g @ s FT I
W gem 35 #F @ gewiwT @
vE & fau 1 o Frifea &1 s7er
W 37 & 70 v F9 T OMR
SW-93% 4 fv 7 ggt fawew &t
H?#/W#ahd?#mﬁf
fFat st gww F ®weTAr / A
Wl / &g / AgT AT FT OMR
IA¥ gFF H wIw @&vear gar 2
A=quT QRte ftems sy @i

GUg - § 7 2059 JWAT AvT & |
gE & fow 2 sfw fuifia 8 fd
g fegl 10 wodl &1 Fav v
sfrard & 1| &9 sfafie 39 @vg 7
6 3 Fvig v A 3 & e &
fow 5 s% Fuita & a0 @ =t
3 gyt &7 IAT AT AfAard #

frgl g@#R & goiagiiAe I F 8.

ST quidr afrd & 1

In Section-A, there are
70 objective type questions, out of
which any 35 questions are to be
answered. If more than 35 questions
are answered, then only first 35 will
be evaluated. Each question carries
1 mark. Darken the circle with blue
/ black ball pen against the correct
option on OMR Answer Sheet
provided to you. Do not use
whitener / liqguld / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be
invalid.

In Section - B, there are 20 short
answer type questions, each
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from these, there are 6 long
answer type gquestions, each
carrying § marks, out of which any
3 questions are to be answered.

Use of any electronic appliances is

. stnctly prohibited.
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WYY - A / SECTION - A

mﬁﬂmfowectlve Type Questions
oYY WO 18 70 7% & UAF Wy & @y 9 fawew v v & frad @ v oagt #

39 grT §7 0 w7 fwew & oMR vz v RifRaa 31 T 35 9t & 3 #

35~1=35
Question Nos. 1 to 70 have four options, out of which only one is correct. You have to
mark your selected option, on the OMR-Sheet. Answer any 35 questions. 35«1 =35
1. AR ENEE A 1 N B % AN UGS qp, W GO AE A WTEAA F
F=fefes 3 ®F-91 day W@ 2
H It
A ap, === (B) ap, =—2
Hy Mg
(C) apy =p, XHu, (D) Apy, =R, + My

If ap,, 18 refractive index of medium A with respect to medium B, then which of

the following relations is correct for refractive index ?

H M
(A) ap, = — (B) au, "
Hy Ha
(€) ARy =Hy XKy (D) AMp =Hg * My

2. Wﬂﬁﬂiﬁipmi{rﬁmﬂﬂﬂmiﬁ Ll;meT@Emtlﬁ?WFTﬂW
forror 4w sufad @R @ faia feu g0 Wt s e ¥ v F R 2 v
ko T, A6 dE R

SO 0
]
V

AL Hp > B)  n, <n
{cl “m - ”f [D’ “m >> “‘f
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Which of the following relations is correct for B, and pu, for the given figure
which shows parallel incident beam on a lens of refractive index H; placed in a

medium of refractive index M, and parallel emergent beam ?

v

g {“! > Hm
\/ >
VR T e ' B) o, <p,
€} n, = D), >y
3.  UH YN &1 SYSHIF 42 ¥, $HH T I 07 2
(A)  30° B) 45°
(C) 60° (D)  90°

The refractive index of a medium is 2. Its corresponding critical angle will be

(A)  30° : (B) 45°
(C) 60° (D)  90°

4.  9g® el & ANNSYaE §RT S T wiafew @ &
(A) 3 3R Bl | (B) aTEdfes 3R Bl
(€) I 3R Fg (D) . S AR e

The image formed by the objective of compound microscope is

(A)  Virtual and diminished (B) Real and diminished

. (C) Virtual and enlarged (D)  Real and enlarged

[ 117 ] A |11013-A Page 4 of 28
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5. Fyafefaa o s9-ardey g 2 o

(A) Q?IT‘HI=ZT"EFFIT?{T (B)  FEAAT = 2% ey
A

(€) W=%_——'— D) T - 1w
QT 2

Which of the following relation is correct ?

(A)  Path difference = %? Phase difference

(B) Phase difference = -;1—“ Path difference
(C) Phase difference = 2n l

") Path difference

(D) Path difference = % . Phase difference

6. AR T FI I9A FA & (070 & 1 HFA @ 2

(n)  fag @@ (B) @y A
(€ v g0« faga & (D) FF N W e w

The shape of source to produce spherical wavefront is

(A) Point source
(13) Lincar sourcce
(C) Extended source at large distance

(D)  Extended source at small distance

7. g&l & O & A oofefaa 8 w9 2 g o

(A)  HEM (B)  WeRI¥T T ! et
© smgfa ) R
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Which of the following gives the information about colour of light ?
(A) Amplitude (B) Speed of light wave
(C)  Frequency (D)  Wavelength

8. I & & g1 Frfefas § #9-an gfie @ B e s & 2
(A)  Feegfem B gk
(C)  S-gfeear (D) fageer

Which of the following eye defects is removed by a convex lens ?
(A)  Myopia (B)  Hypermetropia
(C}) Presbyopia (D)  Astigmatism

9. Wﬁaﬁﬁéﬁﬁmﬁqﬁwiﬁ(&)aﬂtﬁﬁﬁa%ﬁmﬁqﬁwiﬁ(fw]%
s fr=feafad o s9-a1 g9y @@ ¢ ) (v st pg:%,pw=% )
A B) f,=4f,

€ f, =4S, D) f, =21,

Which of the following rclations between focal length of glass lens in air (f.)
a

and focal length of glass lens in water (f,) is correct ? { Use p_ = 3 and
g 2

-4

Hy =3 )

{AJ fr: = fw [B} fﬂ = fw

€ Ju=4% O f,=2f,
10. TR & g4 % QY ATAT N FIHD

(A) A (B) wedlE

(C) 3uRafad e (D) RS wgal & IR 9 § wean ¢
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With ihcrcasc in wavelength refractive index of a medium
(A) incrcases

(B) decrcases

(C) remains unchanged

(D) first increascs and then decreases

1. fawa yovier 1 s.1. aere e @

&) Nm™' (B)  Fm"!
(C’ mF'I (9) Vm—-l

8.1. unit of gradient of potential is
(A) Nm™! (B} Fm™!
(C) mF!' | (D}  Vm™!
12. WWWW%WW(Q-q)‘%Ws.LWﬁﬁ%ﬁW
fFrfeifaa & #17 @@t & 2

IS B) (Q-qle,
_ €o

o (D L—(0-q)
@ (@-4q) D & € K

Which of the following is correct for eclectric flux in S.I. unit over a closed

spherical surface having charge (Q - g) inside it ?

n L B) (0-aq)e,
€o
1 —
© o P el@-a
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13.  faga & dwan Eﬁ@ﬁﬁwmﬁﬁ%%wmm
aﬁ-aﬂqﬁ(?)%mﬁqﬁ-ﬁ@ﬁﬁﬁﬁﬁw@%?

» -+
T
1

. |
(A) = PxE B -P.E

(C)  v=PE | (D) t=PJE

. . . . _)
Which of the following relations is correct for torque (1) acting on an electric

R , -»
dipole of dipole moment P placed in electric field intensity E ?

(A T=PxE. B =P

(C) t=PE | (D) t=P/E
14. U WU o dfed fagda Rufaw s & = 2

A v B cv?

©. zov? | o Lcv?

Expression for electric potential energy stored in a capacitor is

@ gov? | B Cv?
© oV’ D Lev?
3 4
15. o & fon wreE i gt &
(A) 2:3 (B) 35
© 1 D) IH
The valuc of dielectric constant for vacuum is
(A) 23 (B) 35
(C) 1 (D) ZCTO
[117 ] A [11013-A Page 8 of 28
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16.

17.

18.

19.

Ufehel 1 .1, HIEE & &

() ¥ (B)  AM.HRX
(C) TR ez (D) (Hm) -
S.I. unit of resistivity is
(A) ohm h (B) ohm . mectre
(C)  ampere . volt (D) (ohm)~!
A & fram & giew g 3

- - - -
(A) J=oF B) E=0J

- - — 5
(C) J=0%E D) E=¢J

Veclor representation of Ohm's law 1s

-¥ - -3 —»
(A) J=0oLE (B) E=0cJ
- — — b
(C) J=0E D) E=6°J
9 WGy & diel {1 18 & OH &l €
Ay 3 By 4
(C) 5 (D) 8
Yellow colour code of carbon resistance is of value
(A) 3 (B) 4
(C) 5 (D) 8

QI TTeTe & 3ieX SeIaA I A gl §
(A) JHEY (B) ieg

(C) I{WW () EEI
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The motion of clectron inside a current carrying conductor 1S

(A)  uniform (B) accelerated
(C)  uniform average (D}  decelerated
20.  wiasmy fefa s @
(A)  uT B)  faEgd aw® a9
{(;‘) ufaty | D) v
Impedance represents
(A} current (B)  clectromotive force
(C)  resistance (D) power

21. imﬁaﬁﬁmtbmqﬁwaﬂmﬁimﬁm%

(A)  R+olL (B) R
R? + »2L?

(C) RYR?+ w212 (D) %ﬁ
Power factor of series ( L-R) circuit is
(A)  R+ol B —R

’ RE - (!]-}:L;r
(C) RVYR? +w2? - (D) L

R
22. 24 7ma fag 9 urr | &1 949 Foafafea A w2

(A)  [=10A (B)  I=8A
(C) I=2A (D) 1=

[ 117 l A|[11013-A Page 10 of 28
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" Which of the following is the value of current [ in the given figure ?

8A .
(A] I=10 A [B) I=8 A
(C) I=2A (D) I=zero

23 wﬂﬁﬁ%w@m%wwwémﬁtﬁf@?ﬁﬁ
Y TE e ?

T § R
(A) B=-209 _Ho
2nR {@ B 2nl
I
€) B=—5 D B =-2L
HoR D) HoR

Which of the following relations is correct for magnetic field due to a straight

current carrying conductor of infinite length ?

- l‘101r uOR
(A)  B=5-% B) B=3x
1 21
C B=—— D =
(C) R (D) B R
24, ISV Sieedey &1 ATy g €
Ay IH (B) A
(€ Bl . D) ¥ga B
The resistance of an ideal voltmeter is
(A) ZeTO (B) infinite
(C) small (D)  very small
| 117 ] A [11013-A Page 11 of 28
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S . ) 3 p)
AR it % I Ul W s e EE S ¥

ryazﬁﬂﬁﬂﬁm

I~
o

(A) U 1 (B)

(C)  Arweifere | (D) Rt A

. . : b hot wi e
Which of the following values of altcrnating current 18 mcasured by r

Ammeter ?

(A) Mcan valuc (B) Rool mean squarc value

(C) Instantancous valuc (D) Peak value

26. U QUM GaEE &85 § gaw & fhae § fw m s % fog fefatea ® 5
W 2
(A) W = MB {1 - cos0) (13) W = MB (1 -sin0)

(C) W = MB (cos(0-1) (D) W = MB (sin0-1)

Which of the following is correct for work donc in the deflection of a magnet in a

uniform magnetc ficld ?

(A) W = MB(l-cos0) (B) W = MB (l-sin0)

(C) W = MB (cos0 —1) (D) W = MB (sin0 - 1)

27.  JAFE FAR F S.1. TAHER A8

(A) HH (EJ PEry
€y  Zgen (D) 3R

S.I. unit of magnctic flux is

(A) ohm (B) webher
(C) tesla (D) ohm . metre
[ 117 ] A |11013-A dage 12 of 28
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28. Yl & TEE Y G A 0 @l ¢
A} 0O° (B)  90°
(9} 45° (D) 180°
Angle of dip at earth's magnetic polc is
(A)  ©° (B)  90°
(C) 4a5° (D)  180°
29. UF Wgd BR Yaw & Hufag @ §9F g W el AR Fredt fefa § o
&1 H U g &
(A) 1:2 | (B) 2:1
C 1:J2 D) VJ2:1
The ratio of the magnetic fields in the end-on and broad-side on position of a
very short magnet at equidistance from the middle point of the magnet is
(A) 1:2 : (B) 2:1
C) 1:42 D) V2:1
30. FmaAfefEa o feas sitaa =& e e 2
(A) T faea sme (B) Ul gy yd
€ fagd fnE (D) T fyy
Which of the following docs not exist ?
(A) Singlc clectric charge (B) Single magnetic pole
(C) | Elcctric dipole (D) Magnetic dipole
31.  BIEH &I FH g g
hv h
n = B
| (C) hiy Dy hv
[117 ) A [11013-A Page 13 of 28
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: ¥
st A
A - B) =
C
“ow o
32 Pdefgrodfen o FIr R gmt ?
Whuh of e lollowing has - harge ?
1A Alpha pmetx v 3] Beta partiche
) Photon partx e (D} Proton
13 hﬁﬁ?ﬂﬁlmﬁ?r&il:'qrm]’)
|
tA) ) [EY) 5
S m ¥

Yhuh of the bilow g .5 ;.3 v ‘he wave number ?

tA) A (E) -
- L
) ni D) R
34 Mm’mud-q{-&f{*fﬂmﬁt
(A 167 IBfJ 123
() 143 (D) 163

The Wotal number of neutrons In an atom %ﬁsu in

A 197 (B) 123
ICh 143 D} 163

[ 117 | A [11013-A] Page 14 of 28
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35. T S e g ¥

A
(A)  AND, OR | (B) NAND, NOR

(C) OR, NOT (D) AND, OR

Basic logic gates arc

, NOT .

(A)  AND, OR (B) NAND, NOR

(C) OR, NOT (D)  AND, OR, NOT
36.  (1+1)% fgamumt 9 g

(A (B) 10

(C), 100 (D) 11

The binary addition of (1 + 1) is
(A) 1 - (B) 10
(C) 100 (D) 11

T s A » . N s 3
37. EWW$H$H:::jh}aﬁﬁQﬁmﬁﬁﬁﬁEmﬂﬁ??

T
(A} Y=A+B : B) Y=A+B
(C) Y=AB (D) Y=AB
A
Which of the following is correct for the logic symbol —
B
(A) Y=A+E (Bl Y=A+B
38. Uk gof &Yl fo=AfeliEa o i 7@t & 2
(A) g (B) WM
() o - (D) g

D, °

.| 117 ] A |11013-A Page 15 of 28
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Which of the followimg is not a findamental particle ?

(A)  Neutron (B)  Proton

(C)  a-particle (D)  Electron

39. oy gl atdl @) O gae @ @
A o FRed ¥ e @ e E
©) @i Amana & o - o) @il smgfeat & ferw

Speed of clectromagncetic waves is the same
(A) for all wavclengths (B) in all media

(C) for all intensitics (D)  for all frequencies
0. 9vg F Hgr & fou wWegn #t stfvean amgfa (fnay) X THRH I =TT 377

(f, ;) F ST G g &

(A) fmux - fmin . (B) fmax + fmm -
S Seni
(C max —min,
T U

The relation between maximum frequency of spectrum (f ) and minimurm
max .

frequency of spectrum (/. ) for bandwidth is https:/www.bsebstudy.com

min

(A) fmu,‘ - fmjn (B) fmux + fmin
/ S

(©) max (D) min
fmin J‘n'.a;'c

41, VY a9 & g6l fagra Fefabaa 1 @9 g 02
) TR QUi 3yrdfies GUAdT  (B)  WERI¥T T Wehol

(C) Wb @1 faad (D) WeRT¥T &1 3qed

[117 | A | 11013-A Page 16 of 28
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The basic principle of optical fibre is
(A} lotal internal reflection of light  (B)

(C) diffraction of light (D)

scattering of light

refraction of light

42. AT (15),, F R qouih g @
(A} (1101), | (B) (1111),
(C)  (10110), (D)  (1001),
The binary cquivalent of decimal (15), is
(A)  (1101), - (B) (1111),
(C}) (110110}, (D)  (1001),
43. 1 F-TheA™ % e &l €
(A) 10-6C (B) 107°%¢C
(€ 10°C (D) 10°C
1 nanocoulomb is cqual to
A 10°5c | B) 107°C
(C) | 108¢ | (D) 10°C
44, AV F1 YE® g & S.1. AHE BN ¢
{h] em™! (B) cm™2
(C) cm D)  cm?
S.1. unit of lincar density of charge is
A)  cm™ B) cm™
cm | (D) cm?
11013-A Page 17 of 28
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45 waﬁmawa;waﬂ?faqaﬁi-maﬁ*aﬁamm%

A 0° B  30°

(C)  60° (D) 90°
An angle between clectric ficld lines and surface of a charged conductor is

Ay 0° B) 30°

(C) 60° . (D) 90

46. ammaﬁﬂ%nﬁ?%ﬁ@ﬁﬁ*%ﬁméﬁﬂﬁm%

A) Coeca (B) Cx A?
(C) Col (D) C -
A : A2

The relation between capacity of a conductor and its area is

(A) CxA (B) C« A2
1 1
(C) sz (D) CIZE

47. R = & ey aee woaian gt @

1

A =3 €q K B)  C=drey R
4n €

_ 0 o1 2

(C) C= R (D) C R

Capacity of a spherical conductor of radius 'R'is

) = 1 B (?:4, c R
() ¢= 411:&0 R (B) €y
4n e | !
C=—2 D) C=-—1—R
(C) A e
[ 117 ] A |11013-A Page 18 of 28

https://www.bsebstudy.com



48. qyifst T Gatsr
* Ay At 1y Feiferfaa o @3 afer e wA 2 o

A) Ay
(B)
© foavaiax
: (D)

Whic i
h. of the following quantitics is the
capacitors ?

(A) Cha
rgc (B)
(C) Potential difference (D)
49, aﬂ%ERvTﬁ%Graﬁ?ﬁgégﬁﬁ}%
' DA
A =
(A) E (B)
da
(€ B = o (D)
. Width of interference fringe is
DA
A B=— (B)
di
50. U fohcllae-ger aver g @
(A)  3-6x10%J . (B)
©) 3-6x10%J (D)
One kilowatt-hour is equal to
(A)  3-6x10%J (B)
(D)

© 3-6x107

S1.

(A) Tﬁ%[ El'ﬁ fa?" (B)
) ufa wr @ feen (D)

Fl

samc in parallel connection of

Energy
Capacity

_.d
B‘m.

B=d.DX\

-4
B_Dl

B=d.Dx
3-6x10°%y
3-6x107%y

3-6x107%y
3.6x107%y

g a7 F feam
9 @ S

:[ 117 1A Page 19 of 28
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Middic finger of Fleming's right hand pule rcprescnts

direction of magnetic field

(A) dircction of motion (B)
(C)  direction of induced current (D)  nonc of these
52.  Wfves ufqarg g @
A X, = B X, =op
= ol (B) L~ oL
1
[C] X, = L D X, =
L =Jw | (D) A
Inductive reactance is
(A) X, =wL =L
L =W (B) X, oL
(C) X, =Jo.L (D) XL=;
1, w.L
53. YAEd ¥RT uitqy o wife & @
{A} Pau = Er.m.s_"'rr.m_s. Sintb [B] Pau = Er.m.:.s.‘fr.m.& COS(:'
. E s . E_ .
[(’) Puu r.m.s. Sln¢t (D] - - r.m.s. CDS¢
r.m.s. r.am.s.
Power 1n an alternating current circuit is
[A) Prw = 'r,rrl.s."rr.m.:i. Sin¢' (B) av ~ Er.nt.s.‘jr.rr:.s_ CDS‘b
) - &. i E LS
€ 2, sing (D) P, ==CMS o0
r.m.5s. r.m.s.
54. frefafEd 7 fra Iusor & @ aw e s e g )
(A)  THXR (B)  dleediey
(©)  TerEAey (D) THETR
Copper loss is associated with which of the [ollowing instruments ?
(A) Ammcter (B)  Voltmeter
(C) Galvanomcter (D) Transformer
[ 117 A |11013-A Page 20 of 28
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55.

56.

S57.

58.

.

T BT
(A) Hﬁqx:qaﬁq qeel

(B) HIEHT T

€ % =Ry gy s
qa™ (D) ey T T
Walter is
(A diam- i T
) lidmdgm'l"* Mmalcnal (B) paramagnctic matcrial
C . : ;
©) ferromagnetic maltcrial (D) not a magnetic material
X0 % forw wmesd a2
A 107" mE0T7 mFw B) 1009 m¥ 10 maF
() 10° m¥E 10° m T* D) 108 m¥A 10 m =
Wavclength range for X-rays is
(A)  from 100" mto107" m (B) from 1-0““} mto 10 m
(C) from 107 m 10 10™° m (D) from 108 mto 107* m
% 7 FRe sgedTE B §
A) 121 (B 131
Q1441 (D) 1-51
Absolute refractive index of ice is
A 12 (B) 1:31
@ 14 (D) 1:51
Hﬂ[wz};mqmmmﬂﬁﬁﬁmﬁ?ﬁ%
B -
' D)y fox/e

(C) fv - f”

- Page 21 of 28
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The length of tube in normal adjustment of Astronomical telescope 18

. “\} f‘ﬂ +fe (B] j}J _fe
©  s-f D) Sfox/e
59.  Fvi-faeigur sren 2 @
(A) =teH ) (B) 0= — u]u
Hy = 1 Hy =
(C) w=tv M (D) 0 = B 7%
Hy ~1 Hy 1
Dispersive power is
o — -
(A) @ = — ]r (B) o=tr Lo
My, Ky =1
oo+ -
I O o=t
n, - My, = 1
60.  WeRITOTT SHTRT Y el ( 1) & fefu fmfeiaa § o9 @@ & 2
1 1
(A) [ o X , (B) [oc —
\ 2
A
1 1
X X
Which of the following is correct for intensity of scattered light (1) ?
] 1
(A) e B ==
]
l—
© e D) re
22 N
[ 117]A 11013-A ‘age 22 of 28
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61.

62.

63.

zX T, g &

(A) WT]TUI‘G@T
: (B) =T Hra
R (D) Ferr 1

f? In nucleys gx is

(A)  atomic numpe; (B}  mas b
S number

C
(C) number of protons (D) number of electrons

WWWW{mWEﬁ%

A 1. -27 |

(A) 6605 x 10727 kg B)  1:6605x10%7 kg
. -17

(C)  1-6605x10717 kg (D)  1-6605x10'7 kg

One atomic mass unit (U) is

(A)  1-6605x10™ ke B) 1-6605x10%7 kg
(C) 1-6605x107'7 kg (D)  1-6605x10'7 kg
Yeattfaea fouea & fog Ffafaa 4 7 @@ ¢ 2
(A) N = j\.fae'}“r (B) N=NeM
— -2k,

(C) N= Noezl'r D) N=N_e M
Which of the following 18 correct for radioactive disintegration ?
(A) N=N e (B) N=N_eM

— Yo
(C) N=N E?J...I (D) N = Noeﬁll!

-0

https://www.bsebstudy.com



64.

frafeafaa 4 s va @@ & 2
(A (99),, = (1100011), - (B)
€ (99),, =(1110011), (D)

Which onc of the following is correct ?

| (99);0 = (1000011),

(99),, = (1100111),

(A} (99),4 =(1100011), (B)  (99),o = (1000011),

(C)  (99),, =(1110011), (D)  (99),o =(1100111),
65.  TIATCHE SHfdehivl & o0 HeficR gl ¢

(A) ¢ = 2nn (B) ¢=(2n+1)n

(C) ¢é=nn : (D) ¢=(n+1)n

Phase-difference for constructive interference is

(A) ¢ = 2nn (B) d=02n+ 1)n

(C) é=nn (D)  ¢=(n+1)n
66. U W SelagH-aiee aira] 8idT &

(A)  10%cv (B) 107 %ev

() 10%V (D) 10%yv

Onc megaclectron-volt is cqual to

(A) 10%V (B) 10ev

(C) 107V D)  10%yV
67. difegd &1 HE-FoA &l ¢

(A) 275 eV (B) 1-75 eV

(C) 257 ¢V (D) 157 cv
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68.

69.

70.

éll?]A

Work function of soq3y,,, -
138

1-75 eV
1-57 eV

AB=Y

A+ B

I
~

AB=Y

A+B=Y

(A 275y

(C) 2:57 cv "
NORﬁZ%%’Q%ﬁWHﬁ% ;DJ

A) AB=y |

(C) A+B=y ;
Which of the following ig correct for NOF\’[ZLte ?
(A) AB=y (B)

(C) A+B=Y (D)
HefetfEd o 9 day o8 & ?

(A} B?=B?+ B )

€ B= = "

B

v

Which of the following rclations is correct ?

{A)' B}f =B%+ Bf (B)
B
© B=/2 | o

ST A T ST S T € €

! (B)

(A)  107"ms”
(D)

© 10ms™

city at normal L¢P

Drift velo
(B)

@A) 10%ms”
(D)

erature is nearly

l(}qms'1

10°ms™!

10ms™!

10%ms™!

=1
() 107°ms
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WUg - & / SECTION - B

Wmﬁqushort. Answer Type Questions
T¥T @ 1 & 20 @y g & ) feRt 10 v & v 1 uRw & fre 2 9w

Fuffea # : 10 x 2 = 20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions. Each question

carries 2 marks : 10x2=20

L U g W % foedia e @ anmg o w0 2
What do you mean by clectric potential at a point ?

2. fer fogm =@ & fou i =1 e fed 2
Write Coulomb's law for clectrostatic force.

3. GHEYE T | o9 T 99 € ) 2

What do you mean by cquipotential surface ?

4. fegrdia feya smgot & ot o 5.1, o fod 2

Write the definition and S.1. unit of clectric dipole moment.

5. 399 A R Y T GHEH § 2 2
What do you mcan by drift velocity ?

6.  MAvIETd % 3 Iggh & ol | 2
Write two uses of potentiometer.

7. WA § A w e
What do you mean by Lorentz force ?

g.  uftmy it gRvumsy fad
Write the definition of ampere.

9.  ¥iZ & g 3G & fod

Write two uses of shunt.
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10.

11,

12.

13.

14.

15.

16.

17.

18.

19.

20.

R LU EUTHE

What

do you mean by capacitive reactance ?
YA F) 7 TRumIa ) o
Writc two definitions of refractive index,

01-faeiauT amen &% Ry ford

Write the definition of dispersive power.

WeRTRT Oy @ 319 F7 g ¥ )
What do you mean by optical path ?
-0 | A9 = g & 2

What do you mean by Balmer series ?
UewT foReutt & <t Ton i ford |

Write two propertics of alpha-rays.
TR HeraT | 39 ¥ GEFd § 2

What do you mean by nuclear fusion ?

HTeTR o afdd 89 9 39 T 9 ¢ 2

What do you mean by forbidden region in semiconductor ?

-0 A N GEE € 2

What do you mean by ground waves ?
www ¥ 317 &1 G & ?

What do you mecan by www ?

FreiyeE | M9 941 GHST € ?

What do you mean by isotopes ?

bJ

ko

kJ
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e Iwdta wv / Long Answer Type Questions

mmm#zsﬁ#ﬁﬁwm#fﬂﬁﬁawﬁ*mifm*ﬁm
s ¥ fAuifRa 2 : . I3x5=15

Question Nos. 21 to 26 are Long Answer Type Que,c;f:'ons, Answer any 3 questtan.s. Eack

question carries 5 marks : do* 3x5=15

21, WU EeiE ) AT e & fAu sHeie ud i 5
Find out the expression for magnifying power of an Astronomical telescope.

22 goi-faeiqur e famem & fov amavas widt & 7d #:1 5

Find out the necessary conditions for deviation without dispersion.

e & fanl &1 ford 3R ediew fas & fou swmavas dqe od @fad &7

23.

5
Write Kirchhoffs laws and establish the necessary balance condition for
Wheatstonc's bridge.

24, fer-gygfas 4 7w &1 vy fod ik 3@ /g &5 5
Write Gauss's theorem in electrostatics and prove it.

25. 3 fegfa 9 (6l o3 gras & SR ey o F e =i W w5t <
Find out the expression for magnetic field due to a bar magnet at its end-on-
position.

26.  UEIV-IcEHE TATS (LED) H G0 HT | 5
Explain hght emitting diode (LED).
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